ADDITION AND SUBTRACTION Worksheet

A. Add.
L. H|T|o 2. HIT|oO 3. H|T|oO 4. H|T|o
D0 0 Qg 0K, 0ll0]
1|2 3(5]5 51916 31217
+|6|7|4 +14|5]|6 +(21]1319 +(3|8]|6
8 |0 |0 8 |11 8|3 |5 711 |3
. . . 903
B. Add 707 and 196 in your mind and write the answer here.
C. Subtract.
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D. Renuka went to a nearby shop to purchase groceries. She had Y975 with her and bought all that
she wanted for a week. The total bill amount was 3¥992. How much more money did Renuka
need to pay the bill?

Money that Renuka wants to payV\{ﬂg( Bﬁf rée'Fses.992—Rs.975 =Rs. 17

E. Subtract.
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Money that Renuka wants to pay the bill =Rs.992-Rs.975 = Rs. 17


F. A teashop owner earns 3950 in a day and spends 3455 on the same day.
How much does he save from his earnings?

Work out here

Savings of the tea shop owner = Rs.950-Rs.455 =

69


Savings of the tea shop owner = Rs.950-Rs.455 = 




